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d)FEORIYAUYT N\ FERE iR

NELT .
al= 0.50 X 1.000 X 0.40 X —1 Z {8 = -0.2 (m*)
a2= 0.50 X 1.000 X 0.40 X —1 A1 = -0.2 (m*)

-0.4 (m“)

L .
a3= 0.50 % 1.000 X 3.50 X —1 Z {8 = -1.8 (m?)
a4= 0.50 % 1.000 X 3.50 X —1 A1 = -1.8 (m?)

-3.6 (m“)

i) JEE AR ,
a5= 0.50 X 1.000 X 0.50 X —1 Z {8 = -0.3 (m*)
a6= 0.50 X 1.000 X 0.50 X —1 A1 = -0.3 (m*)

-0.6 (m“)

iv)at .

> ai= (-0.4)+(-3.6)+(-0.6) = -4.6 (m")
7) B Et (BERAZEED)

DTERR ,
al= 238-04-04-04-04 = 22.2 (m")

L .
a2= 61.0-3.6 -3.6 -3.6 3.6 = 46.6 (m°)

i) AR ,
a3= 9.0-06-0.6-0.6 -0.6 = 6.6 (m?)

vZ8E ,
ad= 7.3 = 7.3 (m?)

V)it

2 ai= 22.2+46.6+6.6+7.3 = 82.7 (m")




(OSGEE  oE EE

#ME - SD345 (BEERETSHR)
febe 7. 7R‘y7x E
el MOFID%, (ke)
D13 877 877
D16 356 356
D19 0 0
D22 1532 1532
D25 794 794
D29 0
D32 0
S5t 3559 3559
HHREXDANEE
DIBLLTF - 877 kg
D16~D25 - 2682 kg
D29~D32 - 0 kg
=X11 - 3559 kg
(5)/Ea ) —+ ( ock =18 N/mm*)
BEmiEhl BHEEY
t=50~275mm bl 0.163
A = 3.50 x 450 = 158
vV = 15.8 x 0.16 = 25

(m?)

(m3)



(6)XfRT
BEMER - HEHEEY

EHRES - RYIRANZES = 350 m ( H<4.0m )
XRIMAD - RyHORTBRE = 040 m ( t=1.20(m)
< 40  KkN/m?
XRIEE - (SUEEXRT
Ry ARNEEE
a = 35 x 35 - 02 x 02 X1/2%X2
YRIKE
vV = 122 m? x 45
ErmE 2K X
4500
500, 3500 500,
|
S \
g g
8 |




(7)Bi5T

SKEATEIEY)

BEmiEnl -

EHRES - RyIREE
BiZiER L=
I Ha=

BiHnTiEE - BERS

Ny RAZHEER
al = 4.1

AT ER
a2 = 1/2
a3 = 1/2
ad = 1/2
ab = 1/2
a6 = 1/2
al = 1/2

BiETHE

a3

a2

ot Ol

X X X X X X

13787

AN AN AN AN A A

5.2
5.2
53
5.2
5.2
53

236/45.4

1.7

H

+ + + + + +

4191

5.4
53
5.4
53
53
53

1.7

5.2

— N N N N

X X X X X X

m ( H=30m )
1.74+1.7+13.84+3.9+3.6+14.24+3.44+3.1

13.8
3.9
3.6

14.2
3.4
3.1

500

50Q

= 454 (m)
= 52 (m)
= 14 (#m?)
= 73 (#m?)
= 21 (#hm*)
= 19 (#hm*)
= 75  (#m?)
= 18 (#hm*)
= 16 (#pm*)
A = 236 (Bm)
500, 1200
H=5.2 6
1 ,,.»»————"””“’—"" °
//r
s
‘ 1. —— al
I
! / ad
_t
W**i** 35 zom
|
|
‘ — al
—
\\

\a7



4. HONYVT OREBHE HAE HE
WOV AT ANT—45

Ex t = 0.500 INTFE t = 0.500
IEAEK
EAXRIEE BAXGRIEE
a = 1/2x(0.00+4.18+0.00) X 4.58= 9.6 m? a = 1/2x(0.00+4.36+0.00) X 4.28= 9.3 m?2
14.400
— ©
Lo (2]
@ oq
o o
o o
o o
S S
= - - =
L T 9 |
N o o ™
o g 8 Lo/
<r <t
o ™~
[oe] Tp]
- «
<t <r
— ©
Lo ()]
o N N o
S L o S
o o
4.580 4.500 4.280
0.520 0.520
TEE
ERXARIEE BAXGRIEE
a = 1/2x(0.00+4.31+0.00) x 4.72= 102 m? a = 1/2x(0.00+4.50+0.00) X 4.42= 9.9 2
14.684
— ©
Lo (2]
s oq
o o
o ~
M~ Lo
© @
o o
< ™
L T 9 |
3 g 8 3 /
ve |13 3| g
=) BY N[ o
™ 7 ° B
~ AV NFIE =
0.500 - © ] 0500
Lo ()]
o N N o
8 5 o S
o o
ENFE(E) =1/2x(3.18+3.68)= 3430 m
EHNTFE(E) =1/2x(3.18+3.68) = 3430 m
VAT NUFRRwWE 0.707 VAT NUFRRw= 0.707
4.722 | 4.500 4.422
0.520 0.520
ERIFgAE 6 = 105857 AEIfAE 6 = 105857
ERRE 1 = 1.040 GHEFE 1 = 1.040



HORYA T HEHE

(2)aro)—k~ (
BiEmER -
DA EEE
al = 1/2 «x
a2 = 1/2 «x
a3 = 1/2 «x
ad = 1/2 «x
ab = 1/2 «x
AV BEE
al = 1/2 «x
a2 = 1/2 «x
a3 = 1/2 «x
ad = 1/2 «x
ab = 1/2 «x
INUFHETE
a = 1/2 «x

49" —MEIR

A vl

INTF v2

fhe

57N:V)|

EY)

1.00
524
0.85
5.30

5.30

0.87
524
0.85
5.30

5.30

0.50

1/2

0.13

X

(

X

(

524

5.25

0.90

5.30

1.00

524

5.25

0.90

5.30

0.86

0.50 X

37.20

3.43

)

+

+

1.04

458 = 1429 (Mm%
0.52 = 273 (M)
450 = 394 (M
0.52 = 276 (M
428 = 1348 (M9
Al = 3720 (m9

472 = 1442 (M9
0.52 = 273 (M)
450 = 394 (M
0.52 = 276 (m)
4.42 = 1361 (m9
A2 = 3746 (m?

= 013 (M)

3746 ) x 050 = 187 (MY
343 ) = 09 (m)
avH)—MMEEEEE Vo = 196 (m?)



(3) &4

mEmEN - SHREY FHERES ( H=30m
DAL ERERRER

E@E@ LI = 100 +4 ( 418 2 + 458 2 )
TE L2 = 087 +4 ( 431 2 + 472 %)
A T RAZERREAR

E@ L1 = 100 +4 ( 436 2 + 428 2 )
“E L2 = 086 +4 ( 450 2 + 442 2 )

VAT BB (BKE2. BIKTERESR)

EEmE al 3720 + 3746

EE®EE a2 = 1/2 x ( 120 + 126 ) x 050
AFEEE a3 = 1/2 x ( 1.1 + 117 ) x 050
NUFER a4 = (1 343 + 343 ) x 050

ONFER (BIRF2. BiRTERESR)

aE a5 = 071 x 343 + 0.71 x 343
NFRIE NOFHRE

0.00

0.00

0.00

0.00

7.20

7.26

711

717

74.7

3.6

3.6

49

(m)
(m)

(m)
(m)

(m?)
(m?)
(m?)

(m?)

(m?)

2 ai= 74.7+3.6+3.6+-3.4+4.9

83.4

(m?)



(M) H%EmEE

ME -

HMam ER

SD345
.y HHEE (A
>4
BHE | 4w  [RANEE
D13 118 118
D16 350
D19 347
D22 579 1276
D25 0
D29 1479
== X 1479
S5t 2873 2873




B)XRI WAHEEE

a) {8
BEWER - HHEEY
AT KA PSR ,
EEEE al = 1/2 x (96 + 102 ) = 99 (mH)
TR ITIKFE Vi1 = 99 m? X 05 = 5 (ZEm°)
EHHES H = 99 m2 ~ (1/2 x ( 458 + 472 ) = 21 (m)
( H<4.0m )
XERIMmMA t = 1/4 x ( 100 + 524 + 087 + 524 ) = 31 (m)
2.50(m)<t
P=  3.1x245 = 76 (kN/m?)
40=P=80(kN/m2)
XIRIFELSE - CCUHEEXZRT
XRIRDAVT
EE Em|
5100 5242
\\ ]
S I » N
e e
380 R I8 j
Ao N He |
= I | < I }
| I I
| |
J = / | | =
|
4580 520 4722 20




b) G 1

AT KA PSR ,
HAIEE al = 1/2 x (93 + 99 ) = 96 (m)
TR ITIKFE Vi1 = 96 m?  x 05 = 5 (ZEm°)
EHRES H = 96 mi ~ (1/2 x ( 428 + 442 ) = 22 (m)
( H<40m )
XRIMmMA t = 1/4 x ( 100 + 530 + 086 + 530 ) = 31 (m)
2.50(m)<t
P= 31x245 = 76 (kN/m?)
40 =P =<80(kN/m2)
XRIFESR - CCUHEEXZRT
XRIRDAVT
] Em|
4800 4947
// ]
gt N

. N |

T T T TN

4357

5357

520

4280

5357

4500

520

4422




5. FEORMVY DHEFE HEE ERE
(MBFEOARIVATANT—4H

Ex t = 0500 INTFE t = 0.500
IEAEK
ERIXRIEE BAXGRIEE
a = 1/2x(0.00+4.34+0.00) X 420= 9.1 m? a = 1/2x(0.00+4.20+0.00) X 4.50= 9.5 mm?
14.200
© ~—
(7] Lo
6] =<}
o o
o o
o o
(=] o
= S ° =
L S © |
™ o o N
o g 8 Lo/
<r <t
Lo ™
™ o
© N
<t <r
© ~—
[} o
o N N o
S L o S
o o
4.200 4.500 4.500
0.500 0.500
TEE
ERXARIEE BAXGRIEE
a = 1/2x(0.00+4.34+0.00) X 4.20= 9.1 m? a = 1/2x(0.00+4.20+0.00) X 4.50= 9.5 mm?
14.200
[{e} —
()] Lo
6] [e<}
o o
o o
o o
o o
= S ° =
L S © |
= s g 3 /
v |13 3| §i8
10 Y N o)
e | |° 8
< INTFE NFig N
0.500 © o~ ] 0500
(o>} Lo
o N N o
8 5 o S
o o
ENFE(E) =1/2x(3.18+3.68)= 3430 m
EHNTFE(E) =1/2x(3.18+3.68) = 3430 m
VAT NUFRRwWE 0.707 VAT NUFRRw= 0.707
4.200 | 4.500 4.500
0.500 0.500
ZRfAE 06 90.000 aREMAE 6 90.000

ERIfE ] 1.000 AAIFE ] 1.000



FORDAVTHENE WEE EE

(2)aroy—=k ( ock = 24 N/mm?> )

BEWERN - HBHEEYD

DAV EmEiE

al = 1/2 x ( 100 + 530 ) x 420 = 1323 (m?

a2 = 1/2 x ( 53 + 530 ) x 050 = 265 (m?)

a3 = 1/2 x ( 090 + 085 ) x 450 = 394 (M)

a4 = 1/2 x ( 525 + 525 ) x 050 = 263 (m)

a5 = 1/2 x ( 525 + 100 ) x 450 = 1406 (m?
Al = 3651 (m?)

)ALV EEE

al = 1/2 x ( 100 + 530 ) x 420 = 1323 (m?

a2 = 1/2 x ( 53 + 530 ) x 050 = 265 (m?)

a3 = 1/2 x ( 090 + 085 ) x 450 = 394 (M)

a4 = 1/2 x ( 525 + 525 ) x 050 = 263 (m)

a5 = 1/2 x ( 525 + 100 ) x 450 = 1406 (m?
A2 = 3651 (m?)

)N\ FHEE

al = 1/2 x 050 x 050 = 013 (m)

a2 = 1/2 x 050 x 050 = 013 (m)

4V )—MMEIE

ALY vi = 1/2 x ( 3651 + 3651 ) x 050 = 183 (m"

INITF v2 = 013 x 343 = 04 (m)

v3 = 013 x 343 = 04 (m)

avy)—MATERE v 191 (m")



(3) &4

0.00

0.00

0.00

0.00

7.04

7.04

7.16

7.16

73.0

3.5

3.6

49

(m)
(m)

(m)
(m)

(m?)
(m?)
(m?)

(m?)

(m?)

mEmEN -  SHREY FHRES ( H=30m
DAL ERERRER

E@m L1 = 100 +4 ( 434 + 420 %)
#FE L2 = 100 + 4 ( 434 + 420 %)
DAV EAZERREAR

E@m L1 = 100 +4 ( 420 + 450 %)
#FE L2 = 100 + 4 ( 420 + 450 %)
VAT ER (FKF2. MKTERESHE)

E&E®E al = 3651 + 3651

EEE® a2 = 1/2 x ( 704 + 704 ) x 050
HEE® a3 = 1/2 x ( 716 + 716 ) x 050
NnuFER a4 = 050 x 343 + 050 x 343
HNFER (BRE2. BRTERESR)

& a6 = 071 x 343 + 071 x 343
HEBEE

2 ai= 73.0+3.5+3.6+-3.4+4.9

81.6

(m?)



(4 #EmE= HAE HE
M8 - SD345
.y HHEE (A
>4
BHE | V9 [RHUEE
D13 174 174
D16 330
D19 11
D22 291 1563
D25 531
D29 709
D32 0 709
S5t 2446 2446




(5)XRI AR RE
a) Zfl
BEmER - SHEEY
=B PR i ae s - 91 (m)
RIRIIATE Vi = 9i m> x 05 = 5 (Zm’)
THRBES H = 91 m?2  (1/2 x ( 420 + 420 ) = 22 (m)
( H<40m )
XRIMm S t = 1/4 x ( 100 + 530 + 100 + 530 ) = 32 (m)
2.50(m)<t
P= 32x245 = 78 (kN/m?)
40 <P <80(kN/m2)
RIRTIEE - CSURAXRT
XRIEIAVT
IEm FME
4700 4700
B N
r_ Agr I iy _J“"——

5335

4335

5300
5295

4200

0Q

5335

4335

5300
5295

T T T T T
—_——

4200

500




b) G 1
DA TR ANES R

FHRImEE al = 1/2 x ( 9.5 + 95 ) = 95 (m)
TR ITIKFE Vi1 = 95 m?  x 05 = 5 (ZEm®)
EHHES H = 95 m2 ~ (1/2 x ( 450 + 450 ) = 21 (m)
( H<40m )
XRIMmMA t = 1/4 x ( 100 + 525 + 100 + 525 ) = 31 (m)
2.50(m)<t
P=  3.1x245 = 76 (kN/m?)
40=P=80(kN/m2)
XRIFESR - CCUHEEXZRT
XRIKDAVYT
FE Em|
5000 5000
L1 L1
— = —— =
— L] — L]
( | g g IK | g2 3
| g g
| o9 | =N
| S || S
| ||
| |
] I | — | |
]

0 4500 0Q] 4500




6. BHEMROBESTH

(1)a>91)—k ock =24 (N/mm2)

BEWER  SHEEY

=R _

Vi= 1/2 x( 345 + 487 )x 500 x 040 = 8.3 (m”)

2=t

V2= 1/2 x( 345 + 487 )x 500 x 040 = 8.3 (m”)
(2) B

BiEmER:  SKEEEY

=R ,

Al=  ( 027 + 487 4+ 032 )x 040 = 2.2 (m?)

#® A

A2= (487 + 002 )x 040 = 2.0 (m?)
() #HEE
#ME - SD345

S s 18 & g 18
BHE| HhE=s | B9 HhE= B E aEt
(kg) E (kg) Xo R E =

D13 13 13 13 13 26

D16 0 0

D19 0 0

575 379 1557 579 1557 3114

D25 638 638

D29 0 0

D32 0 0 0 0 0

S5t 1570 1570 1570 1570 3140
(4)Hith T t=20mm

=R ,

Al=  ( 493 + 345 + 470 )x 040 = 5.2 (m”)

A2= 1/2 x( 350 + 362 )x 050 = 1.8 (m“)

A = 7.0 (m)

#® A

A3= ( 520 + 345 + 500 )x 040 = 5.5 (m”)

Ad= 1/2 x( 350 + 362 )x 050 = 1.8 (m“)

A = 7.3 (m)

(5) BRHRAR

=R ,

Al= 1/2 x( 358 + 487 )x 452 = 19.1 (m*)

2=t

A2= 1/2 x( 358 + 487 )x 452 = 19.1 (m*)



T

BIE+ THFHE
T f# il wmoooRl W] BN & g B
AfEI WE
o dCe" n s
F—7 by BB ?/,E\j: m’ 0.5
_ i m’ 75.3
+ 7T HEL [#REL C 4m=wl m° 76.7
7]y
Pt n -
5l m3 —99
LR T - ——




B Al =1 = H =
7. WELT
(DR
DWW X
r——_———t—_——
IS L —T— 1] |__|_7_/j
SO ] )k —
N | | 7
NN | | >
¥ vwl
Alfs@zw(:ﬂ \\‘ = 4 RESAA
1 oww I AN A=6.6 (n2)
Aﬁ]ﬁﬁ EE‘ImBz ] KA
A=0.05 (m2)
2) 1 X
i

A\
L Ve
\




Al " = H 2
DR

DIVE +

HEIA 6.3 ( 48+ 6.6) 1/2 35.9 m?
6.6 ( 544 6.4) 1/2 38.9 m?
35.9 38.9 74.8

B 0.03 ( 48+ 6.6) 1/2 0.2 m?
0.05 ( 544 6.4) 1/2 0.3 m*
0.2 0.3 0.5 n°

vl

75.3 m°




4500

00.53

Al

i

()M B

D)W X

2) X




g Al g = # =

R C 4m=W1 vl Y tE = 75.3 m°
59 X ( 4.8+ 6.6) x 1/2 = 33.6
73 X ( 544+ 6.4) x 1/2 = 43.1 1
33.6 + 43.1 = 76.7

(3)F% A0
ikt
V3 = vi - V2 x 1 / C

= 7.3 - 767 X 1 / 0.9 = -9.9 ?




ART

T 7 (2l il GTNE (- L 1V
=2 7Y —b | o ck=18N/mm2 m’ 26.2
MR T B | AL TS m” 12.1




909

R
1350

Siih

o
4560

B

LRI

450

Ei

DL=195.000

17

T [ D05,

(L

i Al
AIRT
(1) 4753
a2 7U—h

8.

1) FENT i
PARATIE




oAl

il

3 A T 1 [




i Al = = M =
4) T
o ck=18N/mm2 fEfr= 7Y —h

0.8 X ( 0+ 7.9) x 1/2 = 3.2 n°

0.2 X ( 194 T71) x 1/2 = 1.5

450 X ( 3.84 2.2) x 1/2 = 13.5 p?

090 X ( 224 25) x 1/2 = 2.1 p?

470 X ( 2.5+ 0) x 1/2 = 5.9 m®

= 26.2 p°

5)135< 1.83 X ( 6.51+ 4.96) x 1/2 = 10.5 m?

1.83 x ¢ 0.72+ 0.17) x 1/2 = 0.8 2

1.83 x ¢ 0.72+ 0.17) x 1/2 = 0.8 2

12.1 p?




L O |H) K= fifg

[}

m 21.4
HABR T A7 7/VM20)|  t=50 3m#E | m® 57.9
ARSI t=100 3mi# | m° 57.9
BEIT X —T t=150 3mi# | m° 57.9

t=323 3miE | m° 57.9




A

w0
]

9. SET

Ak
ES

—_
~
B>
=

A

10. BAK T

11. BhREM: T

CADEt:AI{E

BEBRTAIF7ZILE

BANARE

‘

BEYVSY

REX

Ay RTEMRLE

—Fr&R (3.50+0.623%x2) x4.50

Gr-C-2B
FOM/

H—FKLIL %
L= 05+ 1.

i mp:]

A—FLIL SEEH
L= 0.5+ 2.0«

0.5 +
0.5 +

s et B

O O Ol

1.6 + 0.5

o

57.9

57.9

57.9

57.9

21.4

14.2 m

14.3 m

28.5 m




2 Al = = M E
4500
500 3500 500
25Q__25( 2000 1500 250, 250
BEBRMTRAIFILE (20)
< FE50mm
FERE EERRR)
t=100mm
TRERE | t=150mm
N (BEYSppIvy—3V)
:3 | v — F&RBEKE |
“ il g 203.123 & I
© [se]
S
¥ 202. 500
g \] A\
= S 8RN '
X, | ( \ |\
.90 % i 'I \ ) ) /
\\ f " \ : 9\ /é//x/
\ , 00. 53
\ 2 (67 : /
AN o Y,
AN ® e /
A 5 - /
203702
\\ o \\\ :ﬂ //3{
S RN
N
~ x
N~ -
¢ ~
-
—/
NN
9 =i =se—tias
- [ ‘ i1}
W \ I,é{ < [
3 ) b~ PR $ET
- gﬂ ; I'K?% A=57.9 (n2)
NY 7y M\ Y :
\\ 4700 O@\ 3\ 45bo AY ,2. l\m 500001. 95
\ W7\ 1 41Ty A 1 7




(1) PG B THeE TR R

Gl

Bk

FER - e | owem N
LL3 L L~LE RSy ==X A gy eSS
=il m —
T AT 7 VN m3 1.3 t=100
a7 — MR m3 3.2 t=150
T T
t BER(LHD) m3 3.0 t=150
Rk m —
HIWrES t=20cmE T m 12.0
R A2 —T.
RIED BIWFRS t=35cm=ET m 23.9
—R—=U 7
I a7 —R—=U 74 ¢ 100 \ m 3.4
L EE (RCHEE) t 14.5
&t t 14.5
ET FEHT FER) Ok
s BEEL T
E% CIVRIEZIEN IE 7 S
EHTEREIRS - i 3
AL bt (BRADHEE ) m3 5.8
Jer AR mY RS m2 28.0
FEIEN m3 5.8
ELEHIL (1 ) —
i RAEREIID e m3 3.2
AR (As) 7 AT 7 VM m3 1.3
BOEMRCHER) +wb m3 3.0
By —FER T ER L KE+DH 1% 65 | BUE-FRE TS
Pk m2 18.0 E s




(2) IHfG L THE T
1) Fa TR

3590
600 _ 2210 180

E%L (%) a=0.51m2 '

T A7)l &% a=0. 22m2
a9 ) — e a=0.53m2

5
1]

V15010
- y

300 1‘54}
17015

12F1|5)

320 150

O rEilE

AEE L1= 598 X 2f&FT X 0.00 -

@ TATPVIMEREERE
Vi= 0.22 X 1M X  5.98 =

@ = r)—haiEmE
Vi= 053 X 1MW X 5.98 =

@ BER(LAD)
Vi= 051 X 1WiE X 5.98 =

Ll= 359 X 0 557 _

fm
5
paiss
=
k=113
+
Il

® FEMALEE

ASEEE V1= 1.3 = 1.3 m3
oS Vo= 3.2 3.2 m3
FEIR(1) V3= 3.0 3.0 m3

7.5 m3



2) WROHE (GIH)

O WHvE—1T
ES T . 5.980m
122
3590
454 2698 438

194 260 604 604 250 620 . 620 250 188

LB iE t=35cm

&
)
200
%
v,
200
>
N\T

| wmossmmnm |

| I B 2N
YIBES t=20cmFT Ll= 598 X 2 »ff = 120 m — 1 &M = 12.0 m
BIWIES t=35cmE T Ll= 598 X 4 A7 = 239 m — 1 &M = 23.9 m

@ ar—r—Ur7il
HIIFLEE ¢ 100 (RRRD HF 1D FL)

Ll= 015 X 4 »pf = 060 m — 1 &M = 0.6 m
2= 035 X 8 »pFf = 280 m — 1 &M = 2.8 m
— MYy = 3.4 m = 3.4 m



3) T () Otk

& L
AR BE 5. 980m
3590
454 2698 438
194 260 604 . 604 250 620 __ 620 P50 _1B8
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Al=1/2%( 0.15 + 027 )X 0194 + 0.26 X 059 = 0.194 m2
A2= 1/2X 020 X 020 4+ 0.15 X 0.604 = 0.111 m2
A3= 1/2X 020 X 020 4+ 0.15 X 0.604 = 0.111 m2
Ad= 0.25 X 0.59 = 0.148 m2
A5= 1/2X 020 X 020 + 0.15 X 0.620 = 0.113 m2
A6= 1/2X 020 X 020 + 0.15 X 0.620 = 0.113 m2
A7=1/2%( 0.15 + 026 )x 0.18 + 0.25 X 0.56 = 0.179 m2
Al~A7 = 0.969 m2
AR AR (SR AHAE &) V1i~V7=  0.969 m2 X 5.98m = 5.79 m3
Q@ WEIToysmE
Wi= 2.50t/m3 X 0.194m2 X  5.98m = 291 t
W2= 2.50t/m3 X 0.111m2 X  5.98m = 166 t
W3= 2.50t/m3 X 0.111m2 X  5.98m = 166 t
Wi4= 2.50t/m3 X 0.148m2 X  5.98m = 222t
W5= 2.50t/m3 X 0.113m2 X  5.98m = 1.69 t
W6= 2.50t/m3 X 0.113m2 X  5.98m = 1.69 t
W7= 2.50t/m3 X 0.179m2 X  5.98m = 268 t
WI~W = 14.51 t
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t= 0.50m <>

GEATE VI= 6.360m2 X 3.868  (Rlkh) 0.50 m = 12.30 m3
TEEMIE V2= 2.602m2 X 2.207  (£i) 0.50 m = 2.87 m3
EFmE V3= 2.589m2 X 1.999  (fi) 0.50 m = 2.59 m3
Vi~V2 = 17.76 m3
ARG
t=  0.50m <HEE>
BEHiE Vis 6.636 m2 X 3.965 (Rlk) 0.50 m = 13.16 m3
THEMIE V2= 3.664m2 X 2.323  (£ihh) 0.50 m = 4.26 m3
EFmiE V3= 1.889m2 X 3.042  (fih) 0.50 m = 2.87 m3
VI~V2 = 20.29 m3
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AlFGHEH
ERAAEIEY) Vre= 2.32 = 2.32 m3
FFEMEY) Ve=  17.76 = 17.76 m3
20.08 m3
A2EEH
ERAAEIEY) Vre= 2.32 = 2.32 m3
FFEEY) Ve=  20.29 = 20.29 m3
22.61 m3



2 iR

b1=2. 692m2
2500

v202.17 -‘

c2=1. 126m2

b2=0. 128m2

DL=200. 000 DL=200. 000
| |
" g
| =)
l
|
w
\
|
i
[
ﬁ
#
| brmmvmpx |
O KE+0S
Wit 5| R
A 4 B/ X 2 (2.00m) = 8 4%
) 3 4% X 6 (5.65m) = 18 4%
R 2 48
e 148 X 6 (5.65m) = 6 A
Heas 0 48
(13.30m) - 30 4%

S (e



@ Bt
Wrifi(m2) FEAE(m)
A (b1) 2.692 X  2.000 5.4 m3
S 1.410 X  5.650 8.0 m3
H i R (b2) 0.128
S 0.064 X  5.650 0.4 m3
&AL 0.000
(13.30m) 13.8 m3
©® Y+
Writi (m2) FEAE(m)
s 0.000 X  2.000 0.0 m3
S 0.563 X  5.650 3.2 m3
HE R (c2) 1.126
S 0.563 X  5.650 3.2 m3
FE 0.000
(13.30m) 6.4 m3
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